
ID QTY REFPART DESCRIPTION

(Supplied already mounted on items 1-3)

 BMW  F850GS ADVENTURE   

1 Person

20 min

MEDIUM

S ID E  COV E R SREF 3 596

Nº 13

TORX

T30
T40

ALLEN

Nº 3
Nº 6

12

9

8

7

6

5

4

3

2

1

13

10

14

11

15

16

17

2

2

4

1

1

1

1

1

1

1

2

8

2

6

2

2

2

TORNI-I7380-730

TORNI-I7380-493

SILENBTM5-046/1

SOPOR4P10R13596

3596J/CM3

3596WM3

3596J/CM3

ARNV00000000245

TAPON--------85

TORNI-D912--241

TUERCEG6923-249

TOPE-PA-16DX8--Silicon separator Ø16 x8 

M5x20 Ø11 ISO 7380 Allen screw

M5x16 Ø11 ISO 7380 Allen screw

M5x1 nylon washer

M5 silentblocks

Left metal support (L2)

Left metal support (L1)

Right metal support (R2)

Right metal support (R1)

Left side cover

Methacrylate window

Right side cover

M5x11 Ø11 ISO 7380 Allen screw

Ø4,5 x Ø11 x 2mm Rubber washer

M5 ISO 7380 screw cap

M8x25 DIN912 screw

M8 special Nut

SOPOR4P10R23596

SOPOR4P10L13596

SOPOR4P10L23596



 M OU N T I N G  IN S T R U C T IO N S  

Pg. 2/4

2

43

1

ASSEMBLY

DISASSEMBLY DISASSEMBLY

DISASSEMBLY

A

6

A

A

 ORIGINAL SCREW

 Rotate the support to place it carefully.

BMW F850GS ADVENTURE



MOUNTING IN S T R UCTIONS 

Pg. 3/4

6

87

5
ASSEMBLYASSEMBLY

ASSEMBLY ASSEMBLY

A

A

A

11

11

11

9

9

13

10
17

3

10

10

7

14

13

14
10

3

8

8

ORIGINAL SCREW

ORIGINAL SCREW

A

A

Rotate the support to place it carefully.

    IF IT’S NECESSARY, TO ADJUST ID6/ID7 POSITION  

  BMW F850GS ADVENTURE   



MOUNTING IN S T R UCTIONS 

10

1211

9
ASSEMBLY

ASSEMBLY ASSEMBLY

DISASSEMBLY

A

16
4

16

15 15

14

5
8

8

A

ORIGINAL SCREW

Rotate the support to place it carefully.

Rotate the support to place it carefully.

11

102
10

13

12

10

17

1

10
10 12 11

11

13

14
10

3

IF IT’S NECESSARY, TO ADJUST ID4/ID5 POSITION

  BMW F850GS ADVENTURE   

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

